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PRgE | e OR |1-25% PRgE | e OR |1-25% PRgE | e OR |1-25% PRgE | e OR |1-25% PRgE | e OR |1-25%
WES 5760| 961| 2,326| 617| 2,002| 5747| 960| 2,314| 586| 1,903| 5530| 924| 2226 572| 1,858 5317| 889| 2,141| 553| 1,795| 5061 847| 2,034| 531| 1,728
HHETOFEL 643 10 0 2 643 10 0 2 643 10 0 2 643 10 0 2 643 10 0 2
WESE(A) 7,364| 2,336 617| 2,004 7,350 2,324| 586| 1,905 7,097| 2,236| 572| 1,860 6,849| 2,151 553| 1,797 6,551| 2,044| 531| 1,730
VHES (REEREHR 5753| 551| 2,250| 288| 1,608| 5639 548| 2,405 291| 1,763| 5497| 541| 2516 395 1,909 5431 536| 2,618 417| 2,104] 5177 515| 2,690| 455| 2,250
HHETOFEL () 679 4 0 3 664 4 0 2 644 10 0 2 644 10 0 2 644 10 0 2
WEEE(A) 6,983| 2,254 288| 1,611 6,851| 2,409 291| 1,765 6,682| 2,526 395| 1911 6,611| 2,628 417| 2,106 6,336/ 2,700 455| 2,252
HEHAE -REMR 0| 2,350| 285| 1,141 148| 2,477| 304| 1,253 171| 2,627| 338| 1,342 201| 2,731| 350 1,396 399| 3,081 413| 1,677
HEETOFEL 0 14 3 9 0 13 6 0 13 6 0 13 6 0 13 3 6
% |EREZ LV SHE 6,686 0 6,401 0 0 6,286 0 0 6,286 0 0 5,831 0 0 0
?ﬂ HEETOFEL 679 0 664 0 0 644 0 0 644 0 0 644 0 0 0
= BHEMEEREEEX - 41| 133 - 0 59| 205 - o 72| 269 - o 93] 332 - o 93] 551
R BT D FEL - of 3 - o 1 0 - o 1 0 - o 1 0 - o 1 0
i ET D B FI A 531 33 1 17 576| 28 1 15 551 34 71 18 551 34 71 18 551 34 71 18
HEREEE(B) 7,896| 2,397 330| 1,303 7,789 2,518 368| 1,479 7,652| 2,674| 421| 1,635 7,682| 2,778 454| 1,752 7,425| 3128 517| 2,252
(B)-(A) 913| 143 42| A 308 938| 109 77| A 286 970| 148| 26| A 276 1071| 150 37| A 354 1089 428 62 0
RELLE A 123 A 100 A 102 A 167 490
SIRELER 790 838 868 904 1,579
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iR (FOAHA) phgE | xuus| 0F [1-25% rhgs | xEu| 0OF [1-25% rhgs | xwu| 0OF [1-25% rhgs | xEu| 0B [1-25% rhgs | xEu| 0OF [1-25%
WEs - -| 801[ 270 869 - -| 804] 269] 868 - -| 785] 264| 850 - -| 761] 254] 820 - -| 737 243] 783
HETDFEL - 0 0 0 - 0 0 0 - 0 0 0 - 0 0 0 - 0 0 0
B2 (A 0l 801l 270l 869 0l 804] 269 868 0l 785 264l 850 ol 7611 254 820 0l 7370 243 783
Ee (BEEFR | -| 946] 113] 693 ] - 1,030] 137] 801 ] -[ 1,103] 179] 879 ] -[ 1,147] 188] 969 ] -] 1,180] 206] 1,037
HBETQFEE (1) - 1 0 1 - 3 0 1 - 1 0 1 - 1 0 1 - 1 0 1
INESE(A) 0l 9470 113 694 0l 1,033 1371 802l 0l 1,104 179l 880 ol 1,148 188l 970 0l 11811 206/ 1.038

BEHE RO -[ 986] 126] 494 -] 1,103] 138] 565 [ 1,127] 147] 585 [ 1,127] 147] 585 -[1,325] 190] 744
5 HEHEOFEL - 5 2 5 - 4 1 2 - 4 1 2 - 4 1 2 - 4 1 2
s [FERE 211750 \5 -l 0o o o0 -l 0o o o0 -l 0o o o0 - o o o - o o o
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(B)-(A) 0 51 37| A 117 0 82 32| A 128 0 41 7| A 157 0f A3 7| A 212 0 162 32| A 14
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WEs - -| 496] 115 370 - -| 496] 106] 342 - -| 476] 103] 334 - -| 460[ 100 322 - -| 4370 96| 310
HETDFEL - 1 0 1 - 1 0 1 - 1 0 1 - 1 0 1 - 1 0 1
L E 25 (A) 0ol 4970 1151 37 0l 4970 106l 343 0l 4770 103l 335 0ol 461] 100l 323 0ol 438 96l 311
wEe (BREEFR | -| 470 69] 351 ] -[ 518 62] 362 ] -[ 510 86] 405 ] -[ 531 91] 446 ] -[ 545 99] 477
HBETQFEE (1) - 0 0 0 - 0 0 0 - 1 0 0 - 1 0 0 - 1 0 0
INESE(A) 0l 470l 69/ 351 ol 5180 621 362l 0ol 511 86/ 405 0l 5320 91l 446 0l 546] 99| 477
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BN PhegE | 2uus | 05 |1-25% PhgE | 2uus | 05 |1-25% PhegE | 2uus | 05 |1+-25% PhegE | 2uus | 05 |1+-25% PhgE | 2Eus | 05 |1+-25%
WEs - -| 495 81| 263 - -| 490[ 74| 238 - -| 464] 71| 230 - -| 442] 69 221 - -| 407 67| 216
HETDFEL - 3 0 0 - 3 0 0 - 3 0 0 - 3 0 0 - 3 0 0
L E S (A 0l 498] 81l 263 0l 493 74| 238 ol 4670 71l 230 0l 445 69 221 ol 410 671 216
wEe (BREEFR | -[ 304] 45] 196 B -[ 317 30] 217 B -[ 322]  45] 225 B -[ 335] 48] 248 B -[ 344] 52 265
HETDFEL (1) - 2 0 2 - 0 0 0 - 3 0 0 - 3 0 0 - 3 0 0
INESE(A) 0l 306] 45| 198 ol 3171 30l 217 0l 325 45| 225 0l 338 48] 248 0l 347 521 265
BEHE RO -[ 307 36] 137 -[ 317 37] 162 -[ 364] 39] 166 -[ 364] 39] 166 -[ 410]  49] 220
* MHETOFEL - 4 0 2 - 1 0 1 - 1 0 1 - 1 0 1 - 1 0 1
% HeREZ LRV HE - 0 0 0 - 0 0 0 - 0 0 0 - 0 0 0 - 0 0 0
g HEHETOF £4 - 0 0 0 - 0 0 0 - 0 0 0 - 0 0 0 - 0 0 0
+ (BEMBHRTEX - 0 3 16 - 0 6| 28 - 0 9| 38 - 0 9| 38 - 0 9| 38
e MHETOFEL - 0 0 0 - 0 0 0 - 0 0 0 - 0 0 0 - 0 0 0
R T BT O 6 5% FI - 11 0 4 - 9 0 5 - 5 0 3 - 5 0 3 - 5 0 3
EIEEEETB) 0l 3221 39 159 0l 3271 43l 196 0l 370 48] 208 0ol 370 48] 208 0l 416/ 58] 262
(B)-(A) 0 16] A 6] A 39 0 10 13 A 21 o[ 45 3 A 17 o] 32 0] A 40 o] 69 6] A3
BB A 29 2 31 A3 72
2K A 29 2 31 A 8 72
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R E (FAH) PhgE | 2uus | 05 |1-25% PhegE | 2uus | 05 |1+-25% s | 2uus | 05 |1+-25% PhgE | 2uus | 05 |1-25% PhgE | 2uus | 05% |1+-25%
WEs - -| 534/ 151] 500 - -| 524[ 137 455 - -| 501] 134] 444 - -| 478] 130 432 - -| 453[ 125 419
HETDFEL - 6 0 1 - 6 0 1 - 6 0 1 - 6 0 1 - 6 0 1
L E 25 (A) 0ol 540] 151 501 0l 5300 137 456 0l 5070 134] 445 0l 484] 130l 433 0l 4591 125 420
wEe (BREEFR | -| 530 61] 368 ] -[ 540 62] 383 ] -[ 581 85] 400 ] -[ 605 90[ 441 ] -[ 621 98] 471
HBETOFEE (1) - 1 0 0 - 1 0 1 - 5 0 1 - 5 0 1 - 5 0 1
INESE(A) 0l 531 611 368 0l 541 62| 384 0l 586 85 401 ol 6100 90l 442 ol 626/ 98] 472
BEHE RO -[ 548 60[ 252 -[ 548 66] 268 -[ 627 89] 333 -[ 687 95] 367 -[ 687 95] 377
5 HEHEOFEL - 1 1 1 - 4 1 1 - 4 1 1 - 4 1 1 - 4 1 1
% HeREZ LBV HHE - 0 0 0 - 0 0 0 - 0 0 0 - 0 0 0 - 0 0 0
q HEHETDOF £4 - 0 0 0 - 0 0 0 - 0 0 0 - 0 0 0 - 0 0 0
+ (BEMBHRTEX - 0 0 0 - 0 6 13 - 0 9| 25 - 0 9| 25 - 0 9| 99
i T OFES - 0 0 0 - 0 0 0 - 0 0 0 - 0 0 0 - 0 0 0
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HIEEEETB) 0l 5600 621 258 0l 559 73] 286 0l 640/ 101l 364 0ol 700 107 398 ol 700[ 107] 482
(B)-(A) o] 29 1] A 110 0 18 11] A 98 0] 54 16] A 37 D) 17] A 44 o] 74 9 10
BB A 80 A 69 33 63 93
2K A 30 A 69 33 63 93




